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APPENDIY 6 Deteils of Calc.iations of - %)
IV  Prediction'of PSc Mathemasies (1965) from standardized (1) English test score) and {11) Numerical test score { T)

2 2 .
, T 3
N T, . Tn ‘ Tn Te a'n n
1 352 07 6296 122722 52541 76948 18868
T, 52542 . 76948 1560336 724565 1023242 227242
i T, 129722 2564234 1025242 1560838 355445
2 ' 56702782 21409022 53840454 7167815
n
©® 10831857 14576902 29680010
[} ; .
T, ¢ . 21499022 4453015
‘i _ : . -
33z . 4107 6296 ‘ 122722 52541 76948 13868
11.6675136364 ; 17,8385(36354 . 348,6420454545 - 119.2642045455 218, 0227273 §3,659090909L
462£.13.0795 3435.70.545 128467 .119514 111554.911.930 125442.465508 6664,112336
1 . 7547860057 27 7981717305 24.1307309316 27.1395492792 1.4850603848
747¢.229177 272221.517107 ~710.422492 80333 .,873120 10426.426722
1 36.4116067956 -.0950241726 11.,9490549520 1.5948105678
454312.5150 1069789474 273912.0218 32245 ,60602
1 2465179029 B308795556 | 0742451692
- 71506.14760 5821.059241 ~11880.5220
1 0744106145 -, 1661571089
35047 77808 ~8272.051963
1 - 1903901367

1y . .» = -.1908901367
Te‘rn

b2 4 b (.0744106145) = ~. 1661271069
° TgTn

Bpp = =, 1519700599
a8
2t bre (.2465175029} + by , (.6206795536) = .0742451692
8 e n

sz = +2317532821
n

by + br2 (56.4116067956) +bgp (-,0960241726) + by ¢ (11.9490549520) = 1.3946103678
o n " e en

bp = =4.785857640.
n

¢

by +bp (.7547860057) + bya (27.7951717805) + byp (24.1507309818) + by, (27.1596492792) = 1.4850805848
@ n n e e'n

by = 7.4865831737
8

. : 2 )
e+ T, {11.6676136364) + Tn(l'l.saeses‘g( 1)+Tn(548.‘3420454545J+T§(149.2642045455)4»T9T (213.6022727273) = 53.6530909091,
i : n

¢ = 35,3465582048

2
sz -25:1.755282}.‘1’:l ~.1995901567Te’1‘n - :L513700599T§ —‘4¢78355764091‘n + 7.4885851737Te + 55.3465382948

.
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’

(11) by = -.1461371069
e

by2 * byt (.2465178029) = 0742451692
n a:
br2 = .1151677130
n
v
by + by?. (36.4116067956) + byz (-.0950241726) = 1.5946103678
n e

F}

b’l‘ = «2, 1148181546
o - )

by + by (.7547860057) + by £(27.7951717805) + byp (24.1507509518) = 1.4850606848
n ]

bT = 4,41762685727
[}

2
e +by {11.6676156564) + by {17 .8835636364) + Tﬁ (348.6420454545) + Ta(149.2642045455‘) = 53.6590908091
- n

2
Pm = .11516?7150’1‘n - .1661571069’1‘: - _2"821.4&}].83.546’.(.“1 + 4.4:]_7628.‘37.‘2’1’'j.‘e + 37.1052074244

7

‘L (111) by 2 = 0742451692
n
1

by +bp2 (56.411506785€) = 1.3946108578
n n .

T

b, = «1.3087755396
. )

by b, (.7547860057) + b,o(27.7951717805) = 1.4650602848
n - 3

by = .4093971057
e

e by (31.6676156564)+Tn(17.8865656564)+T§(548.6420454545) = 53,65200809001
o

= 46.4066512243

P
n

H

.0742451692T§ - 1.50877553961‘“ + a4093971057Te + 46.4066512243

{iv) b = 1.390610%678 -
Tn

by + b, {.7547860057) = 1.4850603848
Ta Tn

by = .4524279958
a

c bT {12.6676156364) + bi, {17 .6863636364) = 55.5550908001
-] n

= 23.6691799531

]

P, = 45247790587 . * 1.59461%578Tn + 25.8691799531

{v) by, = 1.48f )605£48

a“

e 4y, {11.5676136364) = 55,6590909091
a B

¢ = 36,351980L102

P = 1.4850608848T, + 36.3519801102

2
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IV  Prediction of PScE Mabthematics (1965) from standardized test in
English (T_) and in Mathematics ()

{1 P = .251753282T§ - .190390137T,T, - .151970060T§ - 4.783357641T

+ 7.488583174T, + 35.346538295

« o Reg. S.8. = (.251753282) {7187815)-( .190590157 ) (4453015)
-( .151970080){2980010) ~{(4.78335%641) {353445)

+(7.488583174) {227242) +(35 546538295 ) (18888) - C.F.
= 30296.56 ' ‘

(13) B, = 115167715, - 1661571071 - 2.814618155T +4.417628573T

+ 37.105207424

Reg. S.S. = {.115167713) (7187815)~{ .166137107){2980010)
-(2.814618155) (353445)+(4.417628573 )(227242)
+{57.105207424) (18888) - C.F.

= 29102.26
2
(i1i) P = 0742451691, - 1.30877 5540‘1‘n + 409397 1.06Te+46 406651224

Reg. S.5. = (.074245169)(7187815‘)-{1.508?75540)(555445')
' IS (.409397106)(227242‘)+(46.406651224‘)(18888‘) - C.F.
= 27128.50 |

(iv) P

]

+432427996T +1.594610568Tn'+25 .669179953
T e

Reg. S.8¢ = (.452427996)(227242%(1.394610568}{5554459
+{23 .669179953) (18888) ~ C.F.

= 24734.43
(vd P = 1.485060385T, + 36,331980110
Reg- ScSo =

(1.485060585‘)‘(227242)+(56.5519801103(13888') - C.F.

= 10193.62 !



